8. IqHAT
Exercise 8.1
Q1. A ¥ forg & € mroofy ¥ geard fRrfdg
(a)

(b)

Q2. ¥ IUWAT HEATHA i TATHT AT AT § ffET -

(a) 19.4
B
- Hundreds Tens Ones Tenths
0 1 9 4
(b) 0.3
B
Hundreds Tens Ones Tenths
0 0 0 3

(c) 10.6



Hundreds Tens Ones Tenths
0 1 0 6
(d) 205.9
g
Hundreds Tens Ones Tenths
0 0 5 9

Q3. ¥ ¥ & w3+ &I 99« &7 ¥ forfyw :

(a) 7 =armar

g 7 39y = 7/10 = 0.7

(b) 2 zBTE, 9 TeTier

T 2T@E, 9=ar=2x10+9/10 =20 + 0.9 = 20.9
OEIEEUEEEET

7 : WeE T T = 14.6

(d) wF =T 37 2 zATE

A UEATATATTHE = 100 + 2x 1 =100 + 2 = 102
(e) : 91 39T AS

2T : B 9 q9WeAd s = 600.8

Q4. ¥ FY TqHAT FT § A {9 :

(a) 5/10

g1 :5/10 = 0.5

(b) 3 +7/10

ga1:3+7/10=3+ 0.7 = 3.7



(c) 200 + 60 + 1/10
Ze7: 200 + 60 + 5 + 1/10 = 200 + 60 + 5 + 0.1 = 265.1

(d) 70 + 8 /10

ze1: 70 + 8/10 = 70 + 0.8 = 70.8

(e) 88/10

z7: 88/10 - 80 + 8/10 - 80/10 + 8/10 - 8 + 8/10 = 8 + 0.8 = 8.8

(f) 4,2/10

Z7:4,2/10 -4 +2/10 =4 + 0.2 = 4.2

(9) 3/2
z1:3/2-3x5/2%x5-15/10-10+5/10-10/10 =1+ 0.5= 1.5

(h) 2/5

771:2/5-2%x2/5%x2-4/10 = 0.4

(i) 12/5
Ze1:12/5-12x2/5x 2 -24/10 - 20 + 4 /10 - 20/10 + 4/10 = 2 + 0.4 = 2.4
(d) 3,3/5
#z7:3.3/5=3+3/5=3+3x2/5x2=3+6/10=3+0.6=3.6

(k) 4,1/2

g1:4,1/2-4+1/2-4+1x5/2x5-4+5/10=4+0.5=4.5

Q5. ¥ IewwT HEATsH F fUA F €7 7 for@sw =gAaH (3w ) €9 § I(AC :
(a) 0.6

g1 : 0.6 =6/10 = 3/5

(b) 2.5

ze: 2.5 = 25/10 = 5/2

(c) 1..0

g: 1.0 = 10/10 = 1



(d) 3.8

g« : 3.8 = 38/10 = 19/5

(e) 13.7

= : 13.7 = 137/10

(f) 21.2

zr: 21.2 = 212/10 = 106/5
() 6.4

g1 : 6.4 = 64/10 = 32/5

Q6. At =T TINT FX A FT TAHAT €Y | qEQ
(a) 2 fafy

za 10 faHr =1 cm

1 T = 1/10 cm

2fadr = 1/10x 2 = 0.2 cm

(b) 30 &t

z: 10 o = 1 cm

1 et = 1/10 cm

30 At = 1/10 x 30 = 3.0 cm

(c) 116

g7 : 10 T = 1 cm

1 f&#t = 1/10 cm

116 foftr = 1/10 x 116 = 11.6 cm

(d) 4 =t 2 ffy

zT:4cm+2/10cm [ 10 i = 1 cm]
4+ 0.2=4.2cm

(e) 11 &t 52 faefy



g7 : 10 W+ =1 cm

1 ffr = 1/10 cm

162 ffy = 1/10 x 162 = 16.2 cm
(f) 83 ot

za: 10fHr =1 cm

1 T = 1/10 cm

83 fmft = 1/10 x 83 = 8.3 cm

Q7. §&aT X@T UX o a1 Ouf deqrett & fiw e deard Rya § 2 96 & &t dF Qut |@edr
3 g2 W 9edT & qfYyw fRwe § ?

(a) 0.8
(b) 5.1
(c) 2.6
(d) 6.4
(e) 9.0

(f) 4.9

Q8. ¥ FT §&IT T@T I S9N =
(a) 0.2
(b) 1.9
(11
(d) 2.5

g .



\a (C) (D] (d
0.2 1.1 1.9
¢ _.l.'[+*_;_,_.,.,+_..,_;_._‘i’.;_. i .'_*._T_q. A JENERENE | “LT"'* >
0 1 2 3

Q9. =1 g2 deaT Yar X Rya A, B, C, D fargst & forg zemwere dear iy -

Attt
0 Al B 1 (C D}

z7:A=0+8/10 = 0.8

B=1+3/10=1.3

C=2+2/10=2.2

D=2+9/10 = 2.9

Q10. (a) THY HY FdT F Fars 9§ 5 T § | AT § @t wwATe T A ?
(b) =9 ¥F TH e WY Y wi=18 65 ffy § | Ty = At A = A ?
gT:9cm5@Hr=9cm + 5@Hr =9 + 5/10 = 9.5 cm

(b) 65 fadt = 65/10 cm = 6.5 cm

Exercise 8.2

Q1. = ST T HZTAAT & {TEOf T T F 39 = | forfa

(a)

()



(a)

®
(c)
Ones Tenths Hundredths Numbers

(a)

()

(c)

g .
Ones Tenths Hundredths Numbers

Q2. TITH AT T T I@HT IqHAT &7 A ol :

1 ] 1
100 | 10 - 1 [ 100 005
@ 0 0 3 2 5 0
@ 1 0 2 6 3 0
@) 0 3 0 0 2 5
| @) 2 1 1 9 0 2
() 0 1 2 2 | 4 1

gd:(a) 0x100+0x10+3x1+2x1/10+ 5x1/100 + 0 x 1/1000
=0+0+3+0.2+0.05+0=3.25
(b)1x100+0x10+2x1+6x1/10+ 3 x1/100 + 0x 1/1000
=14+0+2+0.6+0.03+0=102.63
(c)OXx100+3x10+0x1+0x1/10+2x1/100 +5x 1/1000

=0+30+0+ 0+ 0.02 + 0.005 = 30.025



(d)2x100+1x10+1x1+9x1/10+ 0x 1/100 + 2 x 1/ 1000
=200+10+1+ 0.9+ 0+ 0.002 = 211.902
(e)0x100+1x10+2x1+2x1/10+ 4 x1/100 x 1/1000
0+10+ 2+ 0.2 + 0.04 + 0.001 = 12.241

Q3. A" Taw«a F1 T 7T« qreeft TaTeh< forfew -

(a) 0.29
(b) 2.08
(c) 19.60
(d) 148.32
(e) 200.812
BN
Numbers Hundreds Tens Ones Tenths Hundredths  Thousandths
100 10 1 i i 1
10 100 1000
(a) 0.29 0 0 0 2 9 0
(b) 2.08 0 0 2 0 8 0
(c) 19.60 0 1 9 6 0 0
(d) 14832 1 4 8 3 2 0
(e) 200.812 2 0 0 8 1 2

Q4. A ¥ & Y% &I 99« a &7 # iy :
(a) 20 + 9 + 4/10 + 1/100

z:20 + 9 + 0.4 + 0.01 = 29.41

(b) 137 + 5/100

z : 137 + 0.05 = 137.05

(c) 7/10 + 6/100 + 4/1000

g1 :0.7 + 0.06 + 0.006 + .004 = 0.764



(d) 23 + 2/10 + 6/1000

g : 23+ 0.2 + 0.006 = 23.206
(e) 700 + 20 + 5 + 9/100

g1 : 700 + 20 + 5+ 0.09 = 725.09
Q5. Aw TawwaT F gsat A forfew -
(a) 0.03

(b) 1.20

(c) 108.56

(d) 10.07

(e) 0.032

(f) 5.008

Q6. H&aT X@T & o T fawgaet F = fwr geard Raa € 2
(a) 0.06

z7: 0.06 ¥TE 0.1

(b) 0.45

ze7: 0.45 FTH £ 0.5

(c) 0.19

2 :0.19 Fa™ 0.2

(d) 0.66

Z7: 0.66 FUE g 0.7

(e) 0.92

2 : 0.2k F I g 0.9

(f) 0.57

z7: 0.57 FTEE 0.6

Q7. =aaw &7 # ¥« qwra frfeyw :



(a) 0.60

g« : 0.60 = 60/100 = 3/5

(b) 0.05

2« : 0.05 = 5/100 = 1/20

(c) 0.75

g1 : 0.75 = 75/100 = 3/4

(d) 0.18

21 :0.18

(e) 0.25

g1 :25/100 = 1/4

(f) 0.125

ze7: 0.125 = 125/1000 - 1/8
(g) 0.066

2« : 0.066 = 66/1000 = 33/500
Exercise 8.3

Q1. #i7 # It § ? Freor off frfww -
(a) 0.33710.4
21:0.3<0.4
(b) 0.07 T 0.02
g1 : 0.07 > 0.02
(c)3ar0.8

g1 :3.0>0.8
(d) 0.50 77 0.05
z< : 0.50 > 0.05

(e) 1.237T1.2



g :1.23 > 0.190

(f) 0.99 a1 0.19

2« : 0.099 < 0.190

(g) 1.5 a7 1.50

g :1.50 =1.50

(h) 1.431 a1 11.490
2 :1.431 <11.490

(i) 3.3 7r 3.300

g« : 3.300 = 3.300

(j) 5.64 =1 5.603

2q : 5.640 > 5.603

Q2. Ti= W& &Y IITELW or@#T 9% & T §&47 F1q FIvY |
(a) 1.8 a1 1.82

Z7: 1.82 =T 1.8 9

(b) 1.0009 =T 1.09

ze7 : 1.09 =72 1.0009 &
(c) 10.01 =T 100.1

g« :100.1 9278 10.01 &
(d) 5.100 @r 5.0100
g+ : 5.100 F=T ¢ 5.0100
(e) 04.213 7T 0421.3
g7 : 0421.3 9878 04.213 &
Exercise 8.3

Q1. &7 € I § ? wreor it forfyw :



(a) 0.3310.4
21:0.3<0.4

(b) 0.07 =7 0.02
g :0.07 > 0.02
(c)3=r0.8
g1:3.0>0.8

(d) 0.50 37 0.05
z< : 0.50 > 0.05
(e) 1.237T1.2
ga:1.23 > 0.190
(f) 0.99 77 0.19

= : 0.099 < 0.190
(g) 1.5 7T 1.50

ze7: 1.50 = 1.50
(h) 1.431 27 11.490
2 :1.431 <11.490
(i) 3.3 71 3.300
g : 3.300 = 3.300
(j) 5.64 a1 5.603
ga : 5.640 > 5.603
Q2. U= & & ST for@®< S99 & It 947 F1q T |
(a) 1.8 4T 1.82
z7:1.82a=T21.8 %

(b) 1.0009 7T 1.09



g« : 1.09 F=T ¢ 1.0009 &
(c) 10.01 =T 100.1

g :100.1 F=T% 10.01 &
(d) 5.100 @r 5.0100

ze : 5.100 =72 5.0100
(e) 04.213 71 0421.3

g :0421.3 9278 04.213 &
Exercise 8.5

Q1. A% .® | W% T JIg ATA FX :
(i) 0.007 + 8.5 + 30.08
(ii) 15 + 0.632 + 13.8

(iii) 27.076 + 0.55 + 0.004
(iv) 25.65 + 9.005 + 3.7

(v) 0.75 +10.425 + 2



(vi) 280.69 + 25.2 + 38

(a) H T 0 Tenth Hund. Thou.
0 0 0 7
8 5
+ 3 0 0 8
3 8 5 8 7 =38.587
(b) H T 0 Tenth Hund. Thou.
0 1 5 0 0 0
; [ 3 2
+ 1 3 i 8
2 9 4 3 2 =29.432
(c) H T 0 Tenth Hund. Thou.
2 7 0 7 6
‘ 5 5
4 i 0 0 +
2 7 6 3 0 =27.630
(d) H T 0 Tenth Hund. Thou.
2 5 6 5
9 0 0 5
+ 3 7
3 8 3 5 5 =3B.355
(e]) H T 0 . Tenth Hund. Thou.
; 7 5
1 0 y = 2 5
+ 2 F
1 3 ; 1 7 5 =13.175
(f) H T 0 Tenth Hund. Thou.
2 8 1] 6 9
2 5 2
+ 3 8
3 4 3 8 9 =343.89

Q2. Wefie 7 35.75 T4 | @ # s 32.60 T4 # fFsm=r &t Fa= @<t | whe g
g4 (gT AT T g AT HIT |

T ¢ O T [EAH 9L @A AT AT g ¢ 35.75
=T &t 7% 9 =@ = = 32.60

F7 @4 = 35.75 + 32.60 = 68.35



AT, Yol T @9 AT T T § = 68.35

Q3. Tt &t 7T 7 3& 10.50 T3 fIT ik fUar = 15.80 ¥9F fRw | S+ At fUar gr
T T Fo ;T FRT |

T ¢ TITEET & EIT @9 16T a7 477 = 10.50
TrfEreRT o fOaT =T == AT @ §7F = 15.80

TTTERT g7 9] o ®97 = 10.50 + 15.80 = 26.30
T, TSR 1T 9T 0 7 o 927 = 26.30

Q4. T 7 g+t FHw F forg 3 #t 20 T FueT @hET X 2 # 5 Wy v F forg
geT | SHE T @l & FIL i T A1 (A |

g : FHIW % forg woeT = 3 #7120 cm = 3.20 #t
YeF fermagsT = 2 15 cm = 2.05 .
T G @EET 7 T F98 6 @ars = 3.20 + 2.05 = 5.25 #¥

AU, T T @S T F92 il $ dals = 5.25 #Ht

Q5. e yTa: w1 | 2 Fort 35 #f =<7 sk wigwrwr | 1 ey 7 # =< | 9 g« hat
T4 =T ?

T ;AL GIT AT TS qag @ qrAr = 2 km 35 # = 2,035 km
SITH o | L9 FIRT 61 T8 Ir=T = 1 km 7 /1 = 1.007 km
LT GIT AT € F1 I = 2.035 + 1.007 = 3.042

T, T2 ZIT AT T F1 A1 = 3.042 km.

Q6. AT v &g, 15 frft 268 #t it T a9 |/, 7 flfy 7 #1 it T 1 & ik 500
#t T 92 O FAT § | SHHT T Iq* A raAT | ?

Z @ AT gTT a7 A T T a9 g7 = 15 km 268 m = 15.268 km
FRFA AR T T =7 km 7 m = 7.007 km

e qa T = 500 ¥ = 0.500 km

zoforT, FAAT gTRT a9 Y T2 T T = 22.775 km.

Q7. T A 5 fFuT 400 uT 9Taw, 2 fRuT 20 20 T =i+ T 100 BFuT 850 IT ST
AR STF G i TS @O FT FH 9 (T F919) 17 FIQ |



gAATEA R AT = 5 kg 400 Imr = 5.400 kg
HTF AT = 2 kg 20 9T = 2.020 kg
srer &1 w1 = 10 kg 850 4t = 10.850 kg

FF 9T = 5.400 + 2.020 + 10.850 = 18.270 kg
zofory, T Frafer FTFa 9w = 18.270 kg
Exercise 8.5

Q1. % .® & wou% &7 SIg AT *L &
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=T &t 7% 9 =@ = = 32.60
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AT, Yol T @9 AT T T § = 68.35

Q3. Tt &t 7T 7 3& 10.50 T3 fIT ik fUar = 15.80 ¥9F fRw | S+ At fUar gr
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Q7. T A 5 fFuT 400 uT 9Taw, 2 fRuT 20 20 T =i+ T 100 BFuT 850 IT ST
AR STF G i TS @O FT FH 9 (T F919) 17 FIQ |



gAATEA R AT = 5 kg 400 Imr = 5.400 kg
HTF AT = 2 kg 20 9T = 2.020 kg

Arer T 91 = 10 kg 850 AT = 10.850 kg

FF 9T = 5.400 + 2.020 + 10.850 = 18.270 kg

oo, A frafe i #T g 9w = 18.270 kg





